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‘The rate at which the oven heated the pizza is equivalent to the rate of change of this.
relationship. I linear relationships, the rate of change is represented by the slope of the fine.
We can calculate this slope from any two points on the fine.

Two paints whose coordinates are clearly isible from the gragh are (2, 10) and (4.5, 30).

Now, to find the slope, let's take the ratio of the corresponding differences in the y-values and
the z-values:
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‘The slope of the line is 8, which means the oven heated the pizza at a rate of S degrees Celsius
per minute.
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Amir drove from Jerusalem to the lowest place on Earth, the Dead Sea.

His altitude relative to sea level (in meters) as a function of time (in minutes)is graphed.
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How long was each descent by 88 meters?

Choose 1 answer:
(&) Sminutes

(8) 11minutes
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To find the period of time that corresponds to a descent by 88 meters, we need to find the.
relationship's rate of change. In linear relationships, the rate of change is represented by the.
slope of the line. We can calculate this slope from any two points on the line.

Two points whose coordinates are clearly visile from the graph are (0, 440) and (40,0).

Now, to find the slope, let's take the ratio of the corresponding differences in the y-values and

the z-values:
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“The slope of the line is 11, which means the rate of change is 11 meters per minute. So Amir
descended 88 meters every S5 = § minutes.
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Wilbur landed his plane.

The plane’s elevation relative to the ground (in meters) as a function of time (in seconds) is graphed.
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How long did it

take the plane to land?

seconds
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1/2  The time when the plane landed is the same as when its elevation relative to the ground was 0
meters. So we need to look for the point on the graph where Elevation is 0, which s the z-

intercept.
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2/2 | The z-intercept s (1700, 0), which means that the plane landed after 1700 seconds.
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Suraj took a slice of pizza from the freezer and put it in the oven.

‘The pizza’s temperature (in degrees Celsius) as a function of time (in minutes) is graphed.
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How fast did the oven heat the pizza?

Choose 1 answer:

() 8 degrees Celsius per minute
0.8 degrees Celsius per minute
() 0.0 degrees Celsius per minute

(D) 10 degrees Celsius per minute




